':) 4303

2+11=__ 18-11=__  38-13=__
33+12=____ 27+14=___  42+15=__
444+13=_ 25-12=_ 46-23=_
55+414=_  32+418=_ 45435=
66+15=_ 29-15=__  49-18=
77+16=_ M1 +17=__ 52452=

+|2[a]s[7]8]911]13]15

36 [8]9[11/14]13]15[17]10

6|9 FII11 13113 [15/17]19 22

8 [12]13]15]15 [18 15[ 17]21 21

1013 14 [15[17[17 |19]21]23] 24

1213|1616 |20 [21]25| 24|25 |26

1415 (1819 |21 24|23 |25|27[30 Tallet er:

1619 |18 |22 [24 13| 26| 28]27]32

—

alinea



(12+13— 5=_)(32+13—15=__}ﬁ0_ A

(21—11+ 9= )(35— 7+10 = ) 39 26
35

29

(19+ 6—.8=__) (35+15— 8=__)

25-12+13 = 37-11+ 13 =

50 23

(22+14— 7=_)Q2+22— 9=___)

(27—16+12= )(45—14+19= )

M1+16=__  29-11=__ 57-13=_
52+17=__ 52+17=____ 67+14=__
46+15=__ 33-12=__ 89-28=_
S6+18=_  52+419=_ 44433=_
63+18=_  46-15=_ 95-16=_
70+18=__ 66+15=_ 66+35=_

-6 |7 |8[11[13]14]15]16]17

19(12(11]10|6 (8 |4 [2]2 1

2114 [14(13(10 (7 |7 |7 |8 |5

22|15[15(15[11(10(8 |8 |7 | 4

2417 171613 |16 10| 9 | 8 | 9

2823211917 [13|14[12]12 |19

32|24 25|24(21(20|18(17(16 |14 Tallet er-

33 (26 (24 |26 |23 (21|16 19|15 |17

B)

Matematrix 2B
Valg af regningsart, opgaver

Q@verst: Regn stykkerne
Nederst: Farv de rigtige resultater og skriv tallet der
fremkommer pa linjen.
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